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U.G. / P.G. ENTRANCE EXAMINATION, APRIL 2021
BACHELOR OF HOTEL MANAGEMENT
Time : One Hour Maximum : 60 Marks
Each question carries 1 mark.

I. Replace the underlined word in the given sentences with the most appropriate synonym :

1 Is he the sole man in the team who can play as a forward?

(a) Angry. (b) Soul.
(c) Only. (d) Substitute.
2 Many countries nowadays restrict the exportation of authentic artefacts.
(a) Particular. (b) Rare.
(c) Tentative. (d) Genuine.
3 The robber finally decided to end his silence and reveal the truth to the police.
(a) " Terminate. (b) Finish.
(c) Break. (d) Disclose.
4 She is dancing to the music of her boss’s whims.
(a) Tunes. (b) Songs.
(c) Whistles. (d) Sounds.

'II. Replace the underlined word in the given sentences with the most appropriate antonym:

5 His ways of presentation are unique.

(a) Common. (b) Comparable.
(c¢) Indifferent. (d) Wrong.

6 The creature seemed to be tottering with fear.
(a) Dancing. (b) Motionless.
(¢) Jumping (d) Running.

III. In each of the following options, select the one which can be substituted for given words/sentence

7 A person who thinks only of himself.

(a) Egoist. (b) Eccentric.
(c) Proud. (d) Boaster.
8 A fourteen-line poem.
(a) Ballad. (b) Lyric.
(c) Sonnet. (d) Ode.
9 A person who leaves his own country in order to go and live in another.
(a) Emigrant. (b) Refugee.
(¢) Immigrant. (d) Expatriate.
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IV. Choose the correct spelt word out of the given alternatives :

10 (a) Gaurante.  (b) Guarantee. (c) Garuntee. (d) Guaruntee.

11 (a) Itinaray. (b) Itinarery. (c) Itinaery. (d) Itinerary.

12 (a) Tarriff. (b) Tariff. (¢) Tarif. (d) Tarrif.

13 (a) Damage. (b)Dammege. (c) Damaige. (d) Dammage.
V. Find the odd man out :

14 Shakespeare :

(a) Romeo. (b) Hamlet. (¢) Novel. (d) Play.

15 (a) Hard disk. (b) RAM. (¢c) Monitor. (d) Windows X.
VI, Logical Reasoning, Analog and General Awareness

16 A,C,F,J,0, : '

(a) U. (b)C. (¢) D. (@ F.
17 AGMS, agms,

(a) ABCD abcd. (b) abcd ABCD.
(c) BHNT bhnt. (d) bhnt BHNT.

18 SCISSORS: CLOTH::
(a) Axe: Wood. (b) Stone : Grinder.
(c) Knife: Stone. (d) Gun : Hunt

19 NOODLES: FLOUR ::
(a) snacks : breakfast. (b) Tomato : gravy.
(c) beans : coffee. (d) thread : cotton.

20 A group of 1200 persons consisting of captains and soldiers are travelling in a train. For every
15 soldiers there is one captain. The number of captains in the group is:

(a) 85. (b) 80.
(c) 75. (d) 70.
21 Which word does NOT belong with the others?
(a) mayor. (b) lawyer.
(¢) governor. (d) senator.

22 The study of day-to-day variations in weather is called :-
23 A life history written by somebbdy else :
(a) biography. (b) autobiography.
(¢) bibliography. (d) memoir. ‘
24 Which building is known as “White Marble Mughal Architecture” ?

25 Which caves are well known for their Indian-rock cut architecture ?
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Expand‘ UNESCO.

Which states are famous for houseboats in India? [Any Two)
Enlist any two mountain railways in India.
Which is the biggest continent in the world ?
Tsunami is a word in which language ?
Which country ranked first in the International Kabaddi Federation' stop 10 Kabaddi teams ?
Who is the first Indian badminton player to become the Badminton World Champion ?
‘MITRA’ scheme, which was announced in the recent Union Budget is related to which sector ?
What is the new name of the disease that is caused by novel coronavirus announced by WHO ?
Who is known as the Iron Man of India ?
Who was the first Indian Scientist to win a Nobel Prize ?
Gurpurab, the festival of the guru, is celebrated by people of which religion ?
Bihu, the harvest festival, is celebraf,ed in which state of India ?
Ranji Trophy is associated with which sport ?
Where is Indira Gandhi Indoor Stadium located ?
Which is the tallest building in the world ?
Which is the capital city of France ?
Who was the first Indian woman to climb Mount Everest?
Two numbers are in the ratio 3 : 4. If the sum of numbers is 63, find the numbers.
(a) 27 and 36. (b) 27 and 72.
(c) 54 and 36. (d) 9 and 27.

A is 2 years older than B who is twice as old as C. If the total of the ages of A,B and C be 27,
then how old is B ?

What percent of 20 is 15 ?

Who is called Napoleon of India ?
Which is the capital city of China ?
What’s a marsupial ?

What is the HCF of 12, 45, and 75 ?

The average marks of a student in 4 subjects is 75. If the student obtained 80 marks in the
fifth subject, then the new average is:

(a) 72.5. (b) 76. (c) 77. (d) 77.5.

A shopkeeper sells a refrigeratorat cost price of Rs. 15,000 with a profit of 20%. Find  the
price at which customer has purchased it.

Where is the Headquarters of Indian Army, Indian Navy and Indian Air force ?

Who is known as ‘Missile Man of India’ ?
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Which is the highest civilian award of the country ?
What is the theme of the ‘International Civil Aviation Day’ from 2020 to 2023 ?
(a) Advancing Innovation for Global Aviation Development.
(b) Leaving No country behind.
(¢) Flying around the Globe.
(d) Covid Free World.
Where is ‘Valley of Flowers’ national park is located ?
(a) Kerala. (b) Karnataka.
(c) West Bengal. (d) Uttarakhand.
After WhatsApp, which social media platform introduced disappearing feature of message ?
(a) Facebook Messenger. (b) Twitter.
(¢c) Snapchat. (d) Telegram.
Artificial Intelligence is about
(a) Playing a game on computer.
(b) Making a machine Intelligent.
(c) Programming on Machine with your own intelligence.
(d) Putting your intelligence in Machine.
What is the function of kidney ?
(a) Secretion of erythropoietin. (b) Excretion of waste.

(c) Formation of urine (d) All of the above.
(60 x 1 = 60 marks)



